Strategy for Solving Radical Eqguations Notes

a) Identify restrictions for the radicand(s) and state any new restrictions at each stage.

b) Isolate the radical term or the most complex radical term, if there are radicals on both
sides : :

c) Square both sides.

d) Identify any extraneous roots based on the restrictions.

e) See if the solution makes sense. s BDW\ il PMW\W/ oy VMM\V@

1. Solve the following radical equations algebraically. State any new restrictions at each stage

and identify any ext@ggous roots based on the restrictions. [5yet 2 o |
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Practice Solving Rational Equations Name: (‘/‘/ ny e Date:

1. Solve the following rational equations algebraically. Identify any non-permissible values
and reject any non-permissible values that appear as solutions.
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2. A student taking-part in a biathlon'race was required to cycle for 80 km and then run for - =
10 km. On average the cycling speed was four times as fast as the average running
speed. If the event was completed in five hours, find the athlete's average cycling speed
in km/h. ( Use the back of the sheet ) e t X e the Fice o« G‘Z Fhnin
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